=
<

(0 @) (rad)

107 1

2 3
TPlpoT (PCA t%obeamliné[f)

a(d cot(d))
5

1072

1073

-+
+

107 1

2 3
TPlpoT (PCA t%obeamliné[f)

—=— DQM_CKF_softQCD
—— DQM_mkFit_softQCD
—+— DQM_mkFit_softQCD-newTr

SICEWATL
[ERY
S

=
<
N

1073

1071 1

?_ ....................... ~ .........................
Cx
[ *e, "
L *.
L e T **T ...................
| '.'.::E*-u
v v I e
Tw*
.......... .‘.ff#.++H
2
TPp_ (PCA t%obeamllné'p

o p/p.)

[any
<
i

10 1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

oo a,) (cm)




	Contents
	Page 1


